10 11 12

84.2 83.9| 101.5 85.7 91.0 83.4 82.6 84.4 87.9 84.0 86.3 94.8
100 0 0 1 0 0 0 0 0 0 0 0 0 1
194 219 273 304 238 172 99 139 111 120 203 225 2,297

6.5 7.1 9.1 9.8 7.7 5.7 3.2 4.6 3.6 3.9 7.3 7.3

54.5 56.5 60.8 55.2 52.0 50.6 53.6 51.0 49.1 51.1 52.9 54.6

85.4 83.2 98.4 86.0 85.8 91.1 86.3 86.2 92.4 83.8 87.6 93.8
100 0 0 0 0 0 0 0 0 0 0 0 0 0
250 298 348 305 286 246 239 248 197 215 279 343 3,254

8.3 9.6 11.6 9.8 9.2 8.2 7.7 8.3 6.4 6.9 10.0 11.1

55.2 55.8 58.2 52.4 51.3 53.0 52.9 51.1 54.2 49.9 52.2 55.3

85.1 87.0 98.2 89.7 83.9 88.3 90.2 88.2| 100.7 84.7 88.0 87.1
100 0 0 0 0 0 0 0 0 1 0 0 0 1
165 244 165 136 128 193 290 208 183 191 154 261 2,318

5.5 7.9 5.5 4.4 4.1 6.4 9.4 6.9 5.9 6.2 5.5 8.4

48.1 52.4 59.0 52.2 49.1 52.6 54.1 50.4 60.4 48.2 49.8 54.4

78.7 90.5 92.1 79.4 91.9 85.3 82.0 80.5 81.4 87.9 85.2 89.0
100 0 0 0 0 0 0 0 0 0 0 0 0 0
24 50 40 17 38 18 31 14 25 25 31 41 354

0.8 1.6 1.3 0.5 1.2 0.6 1.0 0.5 0.8 0.8 1.1 1.3

47.1 50.1 50.8 40.0 49.0 51.2 42.9 39.1 44.8 51.2 46.4 49.5




2 )
500 500
450 450
400 400
350 350
300 300
250 250
200 200
150 150
100 100
50 50
0 0
500 500
450 450
400 400
350 350
300 300
250 250
200 200
150 150
100 100
50 50 H_ m m = M.
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